
ASSEMBLY INSTRUCTION 24590008-01

Technical.two
Inserted Text



B x1A1 x1

B

A1
A2

3

1

2
C

A1

A2

B

1

3

2

3

4

2

D

E

A2 x1

E x1

C x1

1  2

DESCRIPTION

D x1
No 1 2 3 4

Part Image

Part Name  M6*30 M6 M4  M6*35

Quantity 8 10 1 2



A3  x1 G  x1
DESCRIPTION

 1  2

A1  x1 H  x1

D  x3 E  x3

A1 A2

A3

G

3

1

2

2 1

3

H

A2

A1

G

3

42

2

1

3

E

D

A2  x1

No 1 2 3 4

Part Image

Part Name  M6*30 M6 M4 M6*35

Quantity 12 16 1 4



DESCRIPTION I  x1

K

I

K

3

1

2

K  x2

 1

No 1 2 3

Part Image

Part Name    M6*30  M6  M4

Quantity 8 8 1


	Sheet6
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View9
	Detail View  (1 : 4)
	Drawing View11
	Detail View  (2 : 15)
	Detail View  (1 : 5)
	Drawing View15
	Drawing View31
	Drawing View32
	Drawing View34
	Drawing View35
	Drawing View52

	Sheet8
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View36
	Drawing View37
	Detail View  (1 : 4)
	Detail View  (1 : 4)
	Drawing View40
	Detail View  (1 : 5)
	Detail View  (1 : 4)
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View47
	Drawing View53

	HDLR.pdf
	Sheet7
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View21
	Drawing View23
	Drawing View48
	Drawing View49
	Drawing View50
	Detail View  (1 : 4)


	1.PDF
	Sheet9
	Drawing View51
	Drawing View55


	Untitled



